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By 2 sets of BM, By is dominant at the nearest part of plasma (at x >
1m). Maximum stray field is less than 1gauss or 1.0E-4 Tesla.

When 4 sets are considered, Bx goes up and By is down at the nearest
plasma zone, but still the field magnitude is less than 1gauss.

The returned magnetic field by plasma & coils through BM iron is
more important than the stray field that the BM generates.

But, the field is still less than 1gauss.
The returned field when BM is turned off is most important comparing

other cases because BM field by its own current & m-field by plasma
has opposite signs. But, the field is still less than 1gauss.

The plasma & coils disturb the m-field inside the BM only by less than
1%. Therefore, BM function will not be affected by the plasma.




